g Lo

16)  Ferrous ammonium sulpha
a) Complex salt (

b) Basic salt (%

¢) Double salt (fa

d) Acid Salt (Sf5% &

17) German Silver is an alloy of

T 29)

a) Cu+Ag+ Cr
c) Cu + Zn + Ni ¢
18) Which one of the folloy

C,S (d) B, si

19) In the extraction Gf metal &ﬁiﬁ Ore



041
Utz (2)
b\\\v“ Y () Rearrangement reaction {W fafm )

d) Decomposition reaction (ﬁt:ma m

[NHu)> G207 i8 - (NHﬂ!ﬁr;o? a1 o 4
a)NH; (b) N2 ' (c) NO; (d) N0
3) Which of the following pairs are isotones i 2 = ol
SRCATHH 7
(@) oCl,7N14  (b) 17CI#5, 17CI7  (¢) 12857, 55
(d) 507 , oF19
4) Rusting is an electro chemical reaction. During rustic g iron acts
wwﬁmwgﬁ—ﬁewﬁaﬁmmmmww _
a) Cathode (FTC2TE Z71C4) (b) Anode (FE TR) -
c) Electrolyte (efoe e fZ=ma)
d) None of these (4T3 T4 (2 4 )
5) How many water of crystallization present in common alum?
IR FRRERCS S (T2 T21 9a1)
a)16 (b) 20 (c) 24 (d) 28
6) Two colourless gases combine chemically to produce &
coloured gas. The gases are - ﬁ’% 2 P T T 98
20 G5 A ST T=AF TR | HFT 7 1o 25) -
a) Oz, N2 (b) NO, Oz (c) CO2, Oz (d) CO, Oz
7) Which of the following pairs react with each other =
aqueous solution to produce a yellow precipitate (=58 o
FH)

a) AlCl;, NH4OH (b) BaCly, CuSOs (c) AgNOs, NaCl
d) Pb(NO;),, KI

".
hich one of the following reactions is not a redox : eaction ?

(o5 i fefirmnfty cares faferm = ?)
al MnOs + Ol =3

jat 3 _
b) CuO + Heop — MnCl: + Cl; + HoO

——— CuCl + H,O



(3)

L‘1l :I'l + }{:S{J] ———el ZITS(.}J + H,‘!
d} ["L"S + L‘l_s —_— S ¥+ HL‘I

0) Correct increasing order of atomic size 18 -
(NI IR S w9 O 29 )
a) Na>Al>Mg>P> S (b) Na<Mg <S<P<Al
c)Na>Mg>Al>P>S (d Mg<Na<Al< P<S
01 An element is named according to the name of a
river. The element is (93 (NEF ™ (b wwia
JPIE T AR | (i 26 )
a)Rh (b)) Am (c) Re (d)Lu
11} Which element is called ‘quick silver’ mcﬁ’fﬂw
‘T3S Piete’ @& 7 ) a) Hg  (b) Ag (c)Au (d) Sb
12)] Example of a Doberiner’s Triads along a period is
(7T 99199 (CRIAIGAE @AId §io TrTae 29
a) Li, Na, K (b) Ca, Sr,Ba (c) Cl,Br,]I (d)C,N, O
13) Which one of the following is a mixed oxide.
(fersa b @i 31 TRy
a) FesOs (b) Mn207 (c) AloO3 (d) NaxO,
14) Select the wrong statement (9 TG NS +4)
a) Litmus is a natural indicator

b) pH of NaCl Solution is more than 7
(NaCl €3 &g Tatd pH 7 SCoT T3
c) HsPOs is a dibasic acid (H3PO3 @3 s SHiFe)
d) Water Soluble bases are called alkalis
(&0 TR RS T 0 )
Y Agua-regia is more active than other acids becal




2
S]nnsia]’ldﬂ:g:

4
: = .atoms fall on He" ton
4) Radiation coming from transition n = 2 ton = 1of H-ato

The possible transition of He" ions as they absorb energy e rGE .S;Lﬁi@ﬂ | e fefe
HORERR n = 2 908 n = 1 Frace e R He' St n = 1@t =219 '
W& He' WINTAY (8 ¥W1] FAIEAI0A 1 & -
a) N=2ton=3 b) N=1ton=4 ¢) N=2ton=5 d) N=2ton=4
5) The graph between || *and r (radial distance) is shown below . This represents -
|w] ? way r (i) w7 efoa S swie g | e e —

"
W)
e
r ]
a) 3sorbital b) 2sorbital c) 1sorbital d) 2p orbital
&) Which of the following represent the correct order of ionization energy ?
IR THIAG SEATHA <& Hfdw @ e 90 ¢
a) C<N<O«<F b) N<O<C<F ¢) C<N>O0«<F d) C<F<O<N
7 The increasing order of atomic radii of the following group 13 elements is -
13 - 807 WS T ST o= -
a) Al<Ga<In<Tl b) Ga<Al<In<Tl c) Al<in<Ga<Tl d) Al<Ga<Ti<In
8) The lone pair of Cl —atom in ClO; ion is present in -
ClO; = Cl “fia Pt Srerel taie® Soifie -
a) SP’ orbital b) SP?orbital c)  Pzorbital d) SP orbital
8)  The correct increasing order of 0-O bond length is -  0-O IR THAHCLT HIP ST 251 -
a) 0;<03<H;0; b) Hy0;<0:<0; c) O;<H;0;<0; d) Os;<H.0,<0;
10)  Which statement is wrong for the following reaction ? 52 Rzaibe w o & G ¢
(+) k=)
NH_‘J_ + EF: o HJN Y BF_3|
a) Itisanacid - b) In this reaction a ¢) Itisaredox d) NHjis alewis
base reaction co-ordinate bond is reaction base .
N formed
a) CGvaIUERE b)) 9% Ry et ¢) 9t ol el — d) NHj
it PG| 4 o gy et At il 527w
11)  The compressibility factor for a real gas at high pressure is -
55 BT G AR AR AT 27 G 2 -
a) , 1+Pb/RT b) 1-Pb/RT

C;l 1 + ﬂ d) 1
Pb
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AN

(Nmm%f)@ﬂm )4 9% AL S

a) mm H;ﬁlg h) Hmd (th&% ) M
21)
U e
a) i .
22) Which of the fallaw:ng is pym&lﬁi:ate 2
a) ts.iﬁaln‘“’- b)  (Si20s)""
23) Carbon does not form complex because -
a) Vacantd- b) Itis nota metal
orbital's are
absent in it '
a) @usd-Ss b)) 9bAET <
iy *
24) Arrange the following carbanions in order of th eir decreasing srabiﬁfsif
' I Zare Fre e |
(-) (-) )
i) H,C=CH ii) H=C=C iii) CH3—CH,
a) i) >ii) > b) i) > i) > i ) i) >ii)>i

25) Ph~CH,~-CNand Ph—CH=C=NHare
Ph—CH, - CN and Ph—CH = C=NH z=1

a) Geometrical b) Metamers ¢) Tautomers d) none
isomers :

a) wWfSkmmE  p) THWR c) Tl N

hy
26) o, - tllH— CHy— CHy + Cly ———

CHsz
How many isomeric monochloroderivative will be formed ?
AT O NANSIE! Falaa BerE 23
a) 4 b) 3 Q) &

27)  The product of the reaction - Rfgbre Sevtn Rfawate wed —

o el

1% HgSO0,
cl 60°C
i 0
-
2 Qc‘% b) ﬁm oo O Both
P Gl



13) Equ M
‘the total pressure

m '- l v : e
a) 1 b) 8 |
3 7

14)  Forsilver, Cp (IC*mol™) = 23+ 0,01 T, f the te

Frreimm = Cp (UK'mol™) = 23 + 0,01 T 3 ¢
1‘000Kmmm-mnﬁfﬁ‘mmm. BT o 7e -
a) 62K b) 16K

15)  For which of the follcv.fing reaction AH = AU
Tews o e wg AH = AU zz
2) NiOylg) & 2NO,(g)

€} Ha(g) +Cly(g) <> 2HCl(g)

16)  The sum of PH and PKy for a basic buffer solution is 13, the ratio he

that of salt js - - !

G Wi T 5707 PH @ P, 97 7B 13 rm&wﬁwwmwwwﬂ o

a) 10 b) 01 ¢ 005 | d)
17 Ka for CHiCOOH is 1.8 x 10 and K, for NH,OH ic 1.8 10°. The PH of am nor

will be -
CH3COOH @K, %1 1.8 x 10 @z NH,0H 93 Kp 2911.8 x
a) 7.005 b) 4.75

18) If dissociation of PCls is 20% at 1 atm pressure . Th

19 hthe reaction : 38r, + 600, + 3H,0 — 581 + BrO;™ + 6HC

a)  Bromine is b) Bromine is reduced c)
oxidized and and water js
Carbonate js oxidised
reduced i

2 EReRema ) aff Rk ey
IS R 2 A By !
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i) But-1-ene — But "2'5“& i o

37) Distmgulsh between.

Faemaa |
li m-l-@meand But-vz —yne.
ii) What

38) Draw the Newman projection formula for two principal conformations
dihedral angle .
m@mmﬁ@mﬂwﬁmmﬁmﬂsﬁmmw R

39) Explain why:
W'ﬂh

ii) D0 is npt suitable for dnnkmg purpase
i) 7=res (pb) 7w 7g Hel @7 Rz Ha oo e wa At |
ii) D0 *iftAa &gy |
40) Complete the follﬂwing reactions ;
o7 Rfgratfa w :

a) BaHg + 2NHz — A '—9 B + 12H,,
b) Na,5i0;,H;0 — C+D



29)

30)

31)

32)

33)

x

_ AICl, :
@ +CHy CH CHBr —— - %2

Xis—
A w=-
a] CH; = CHz = CH-z = ﬂﬁHs

€) CH3—CH; - CgHs

Which of the following is a secondary pollutant ?
TIB3 TG T 759 ¢

d ) CO; b ] N0

Group—B
Answer the following questions (fisa ez

Bcl; is more acidic than BF; — why ?

Bely a7 wiftet BF 3 Srops! o) 131 ¢

Mgcl, is linear but Sncl, is angular — Explain .

Mgcl, Faetafs fg Sncl, t#1e - a1 7w |

calculate equilibrium temperature for a chemical reaction at 1 a
30 KJ mol™ i

Latm e aaf i s e AS = 75 K mol axs AH = 30K



2)

4)

5)

e |

8)

Jes of 0,01(M) solutions of Ure®
are s 951 -
} rrers @ SO
0.01(M) 3R, yias e7aq At (HIfGA AP0 0T fraire e 4 d) 2:2:3
s T Al :
a)  1:1:1 by 1:2:1 c}i 12 s at infinite

-1 z u
i - ' 760 cm eq
The equivalent conductance of Ba 2 and ¢l are respecthly 127 and
iluti ill be :-
of Bacl, at infinite dilution will b

A t,-pqam
mz equy 'EP?W

The ratio of freezing point depression val

dilution. The equivalent conductance ( in n' equ'lv-]'}
" : - 1
Ba™ «RUC @ SR AN GEUTE ARG A YA 127 47 760 €

Bacl, @2 gEIT% ~Rage! 03 -
d) 1015

a) 1395 b) 203 o) 279

The optical isomerism is not shown by the complex, [ Feaa @

e I A1 )

a)  [er{ox)]” b) [Co(EDTA)] c) [Colen)(NHa)scl]” d) trans-
[pt(NHs)aclz]

Rate of reaction with aqueous ethanol follows the order [ G@Ti 2R ALZ @13l FA1H &4 ]
Br CH5 Br Br

{0 >— ocu.er Ej | @ O

L @ (R) 5)
a) P>Q>S>R b) Q>P>R>S g P>R>Q>5 d) R>P>5>Q

, CH3
/:7/0{‘-'!3 __Hi Product. Identify the major product.  [4f~ [ier o/ == traile ]

3) f)' b) Q/ﬁn c) (jf“ d) CHs |
| i O<D

The correct order of basicity of the following component is -[ Fza Cistafem wifimer 70 ST ]

NH

e 0
Hi— =— 7

CH—C_ CH3— CH;— NH; (CHs);NH CHs3 c,f:

j I I v
a8l l=1=>l >V b) > >l >V c) M>1>1 > d) 1> S >V

What should be the final product in the following reaction ? [ Ftsa Rfeuiftce =i wfew sl ]

O:N _/:_;_ NH; + 2I1CI — Main product
a) NH; b) NH;
B J ) | ) NH; d) No reaction
© o
\r-"
NO, NO, 0,

2|Page of 6




The Ky of Cul is 1.1 x10” . Determine emf of the cell r
[log1.1=0.041]

a) 0502y b) 1.29v -
22) A certain current liberates 0.504g of hydrogen in 2 br. K

bymemmmﬂom or the ime ir

a) 127 b) 18
23) i Xis the fraction of molecules having energy greater than Ea

21)

4 The ty of a reaction is haived as the initial concentration of the

order of the reation ?
a) 1 b) 0

25)  Flocculation value is expressed in terms of
a) Millimolel*  b) Moll? )
28)  In which pair of ions both contain s-s bord
3) S0s°&50° b) 5,0,2&5,047
27)  The state of hybridization in anionic part of solid C,0¢ is
a) sp’d® b) Spd
28]  The mass average molecular mass and number 3

30,000 respectively . The polydispersity index of
a) <1 b} =2

4|Page of &



10)

a)  Ananti- " b)  Analgesic o
inflammatory d
compound i
11)  Sodium metal crystallizes in a body centred cubic lattice w
of sodium atom is approximately .(cnfen g vracafis &
e R et 4,29 A | TRt i e — ]
o 0 I -
a) 186A b) 3.22A ) S572A
12} Among the following, the coloured lanthanide ion is (Fraafer s a8

a) L b) Gd* ‘o) ce”
13)  The total number of lone pair of electron in I3 is. :

a) o b) 3 o 6
14)  The structure of Icl; is (ICl, = *% z#1)

a) Trigonal b) Trigonal bipyramial l:} Gmthédruai e

e i)
15)  Which of the following is an intrinsic colloid ? mmw{m AR ©)

a) Rubbersolution b) Soap solution c) Solofgold

16) The main products formed in the reaction of pﬁe_nyl; acetate with e

hydrolysis are (FmiZes w567 #rx wfefw CHiMgBr «a fifimm Bes

a) Phenol and b) Phenol and acetone ¢)  Phenola
t-butanol “acid

17) ~ One mole of a coordination complex of the empirical formula Ce

1% e 1071 COCls SNH3 48 gomiccars 48 e it i Rl Ag

a) Pentaammine b) Pentaammine c) Pent:
cobalt dichlorido cobalt dichlorids
(1) chloride (1) chloride (11) chl

P

|Page of 6 i
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31) Wiy MnO; s added in dry cell - explain ? What type of dielectr

32)
. B L e e
m,.
!

g i _I50°C, A+B+ -N-OH, FindoutA&Bane | which one i
.0 ;

- e

What zre the monomers of polymer SARAN. Write down the structu

(e
Lk

i

The rate constant of 2 first order reaction is given by the equation : k
2% e T HETE TR — 5RRR TR ENE FARE S I T 3)

|| Find the energy of activation (Ea) of the reaction . ot
©) Wnat should be the temperature so that half-life of the reaction will .
(3, TS rrsm s oty | 2) T T v T T
35] A polyhydric alcohol of molecular mass 168 gives an acetyl des
How many hydroxyl groups are present in that alcohol ? 4
T 2 TEEA S € 38 | @2 F0 — OH s Ew 1)

-



contains 30 (QNo 1

=fem 205 w4 2% 19 MCQ Eammuumwﬂ'ﬂﬂﬁﬂl )
4. Answer to Group B questions (Q. No. 31 — Q.No 40) a
appropriate space of the answer script. (% B =z (Q. No.
i WY A IRE A ) .
5. Candidate shall use ball point pen ( blue / black )to a
(Mwmﬁ‘w{wkﬁm%wmm| ) .
6. The last page of the answer script be used for Rough we
Rough work <z &= ()

Group - A
Multiple choice Questions Answer : Answer all 30 Questions :
1) In a face centred cubic arrangement if A and B atoms, where A aton
unit cell and B atoms at the face center, One of the A atoms is
unit cell. The simplest formula of the compound, .

Aﬂ«ﬁmmwmmmmﬁmm‘
ﬁ%ﬁwwmm&amﬁmwﬁm
w0 S A i Ry e, A be e e e

a) AsBg b) ABg C € A

1|Page of 6



‘1. The question paper contains two groups iA and B l c
contains 30 (Q.No 1 - 30 ) Multiple Choice Questions ﬁ
mark Gmup B contains 10 { Q.Mo 31 49 ) Short Aﬂ?swar

mmﬁhm:mmﬂm sof ( Q.No.31-40 ) ISA] s
2. All questions are to be answered. {mmmmﬁmﬂﬂ L ’

liable the answer to be cancelled. Wrong answer for each |
deduction of 0.25 marks. (McQ e el 51 6w trew! Ak
S e 7 oS @e o shade e 22w 1 @9 MCQ, «n Bace aais
T 01 22 159 MCQ St g .30 o 201 38T 1 ) -

4. Answer to Group B questions (Q. No. 31 — Q.No 40) are to be g
appropriate space of the answer scnpt (2 B2msa (Q. No. 31 — Nﬁ
*Ieaa WS e e 230 )

5. Candidate shall use ball point pen ( blue / black ) to answer the
( rfreetdiant 2 =i v ( w1 / T ) Swvem vy 2 Afeca | )

6. The last page of the answer script be used for Rough work. (&
Rough work gz @ | )

Group—-A
Choose the correct answer from the following questions(Stwa eiwe el 14 =

1)  Density of wateris 1 g/ml . What is the volume occupied by 1 molecule of wa
B (A G 1 g/l T, SR e ] QT S ey 36 27 7 :

a) 144x10%ml b) 1ml c) 18ml
2)  The volume strength of 1.50 N H,0, solution is -

1.50 N H;0; 59014 Sii3e+ Tiat 2= -

a) 88 b) 84 c) 48

3)  Which element possesses non-spherical shell ?
T CIeifa 5ot ToMeRer 7 2

a) L b) Be 9 B

PAGE10OF6




" 1 e
AB.C fe e
+ 1) @rwa s B nm
a) In which group of pe
¢) Write the formula of tk
and mention type of b

compounds. Write thE‘H'

names (%' SRR 0 et

TS AP0 @28 [UPAC 59 ¢
39) Write the equations

cathode and aliode

40) How will y&u@ﬂﬂ?@m
a) Ethanoic acid
(s )

b) Acetylene

F e




equation of the

35) Write one equation to
oxidant. Mﬁﬂﬁﬂﬂ
reduced in that reactic




T —_— T 'H_- .

. i e

'F.; s
o

25) Which one is the Ore of irof
26) What is the percentage o
22 Carat gom* ? ( u
a) 92.2%  b) 92.4%
27) thch one is not a hetere

28)

a) 12,3 (b) 3,12 (J) 96 (d) 6,9
29] Whl(:hgﬁg ﬂf E" fﬂﬂ o

a) Cgal
30) ‘3R’ policy mes (
a) Reduce (27), Reuse {’.

b) Recycle (47+a@4¥), Recover (#




5. Candidate sha]l use ball polnt pep,'
ﬂ%vﬂ%maa ’K"%W (wﬁrj .

1) NHiCNO .—‘?‘—io.=<j‘;

_-NH»




